Phy 2A Extra Problems

Wednesday, February 1, 2017 3:15 PM

Newton's Laws Problems:
1) This is from OpenStax: Ch 5-18

A contestant in a winter sporting event pushes a 45 kg block of ice across a frozen lake, as shown.

(For ice on ice P = 0.03 and ps = 0.1)
(a) Calculate the minimum force, F, that must be exerted to get the block moving.

(b) What is the magnitude of the acceleration once it starts to move, if F remains constant?
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Newton's Laws Problems:
1. This is from OpenStax: Ch 5-19
Repeat the previous question with the contestant pulling the block of ice with a rope over his
shoulder at the same angle above the horizontal, as shown. (see above for friction coefficients)
(a) Calculate the minimum force, F, that must be exerted to get the block moving.
(b) What is the magnitude of the acceleration once it starts to move, if F remains constant?

D L Llek

ARLF N

New Section 1 Page 3



¥y gAY ol

M F N AF
é_,j/ = e——%’%@
27 £l
; L
?E; M o

1T_7< _\(_ES)M‘\%: O I\/+F ‘—‘F— = O
v i
4 Ygrw— ¢S
s ). SRR
Eo, rlo
Eo= N T T T

F ces & = ,U;[MB*—FS”‘E]

(O,qOQ F = (o \)L(%s}(%?}‘ ¥ (0‘4(1,'57]

0,41 = H4)
( >F Less ‘ﬁ”"“"
= = N ’b(((hv\gQ JYL\L&
F He ve  less frcekion



U T m T NI

FOQSQ’MKH?MO\X “:S_}}
™ z/
-‘F CeS'e = }/\k[\ms_. ¥ gt‘,\@] = O\X

(L\@s) Cos2E" _ <0.0’§>[(L)§\>(°\‘3\ — (1¢s) szgj = 45 a,

L{Z'( - IZ(o = L{S O\x

Q= 0.655 _VS‘:



